Multiplicar Tres Polinomios (I)

DO

Ot

Simplifique cada expresion.

(=8 + 6y1)(9y® + 6y°) (y* + Ty?)

(=8d — 7)(=9d — 9)(d* + 64%)

(=4m® = 2mM) (5m® — 2m™)(—6m* — 3m?)

(—6b+9)(5b* + 8b%) (b + 8)

(=8¢ — 4¢%) (8¢ + 9)(5¢* — 6¢7)
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Multiplicar Tres Polinomios (I) Respuestas

)}

Ot

Simplifique cada expresion.

(=8 + 6y1)(9y® + 6y°) (y* + Ty?)
— —72y"? — 498y + 78y'" + 252¢°

(=8d —7)(=9d — 9)(d* + 6d4%)
= 72d% + 567d° + 873d* + 378>

(—4m® — 2m4)(5m5 —2m*)(—=6m* — 3m?)
= 120m* + 72m!'? — 18m!? — 12mM

(—6b+9)(5b" +80°)(b+8)
= —300% — 243b° + 48b* + 576b°

(=8¢ — 4¢%) (8¢ + 9) (5¢* — 6c7)
— —320¢% — 136¢" + 4445 + 216¢°
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